2M: JZF0He
X EH: D 2F
(=R B o

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A2 Z 0ot 373,412,222 269,630,970 103,781,252
= 308,022,569
J| 869,000
= 29,229,448
&< 35,291,205
H2ASH LS ME B (ASIEX/L0 - FAH) 307,638,085 210,724,067 96,914,018
= 263,316,869
J| 770,000
= 18,284,830
= 25,266,386
Lolgdxie sl ASEH 19,845,234 14,539,016 5,306,218
2 16,385,475
== 3,459,759
EoldXI2IAI (=2 D) 19,529,234 14,168,016 5,361,218
2 16,385,475
== 3,143,759
101 e1214| 24,094 19,200 4,894
= 9,900
= 14,194
03 RIHEZZXHE = 24,094 19,200 4,894
OLolYdXel MEolad olAHH| 24,094
= 9,900
= 14,194
307 giztol A 11,990 11,000 990
= 5,995
& 5,995
10 Al S X EX 11,990 11,000 990
OLa)| 2 Mol (LoladXte SULEHEAY) 11,990
= 5,995
= 5,995
308 AMXISHMSOIA 19,493, 150 14,137,816 5,355,334
= 16,369,580
o 3,123,570
01 AIXSHMEMNEX= 19,493, 150 14,137,816 5,355,334
O+ ¥ 23l 18,741,420
= 15,617,850
& 3,123,570
O%s)|ad Aol 623,480
= 623,480
ool xel A3 63,250
= 63,250
OANEEAIY CIHEIE X 65,000
= 65,000
R TE-TDEIPYE-=" 316,000 371,000 A 55,000
308 MXISHHMSOIA 306,000 326,000 A 20,000
01 RXEBHBARES 306,000 326,000 20,000




2N
X ZH -
L= B

el

SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
owoaiel HE 306,000
403 XX EHAIS T2 0| ™ 10,000 45,000 £.35,000
01 IXI AT = = 10,000 45,000 £.35,000
oAlLOIZ2y XD| X 10,000
CEMBERD A0 S 254,686,867 157,387,984 97,298,883
2 237,520,366
< 17,166,501
SOXNER HY 2 42,000 48,000 £6,000
301 LprE a3 20,000 20,000 0
06 ©12+el 22|01t 20,000 20,000 0
0= ST L ASIF0 I8R0 20,000
307 ©I2+0| ™ 22,000 20,000 2,000
EEENEESE] 22,000 20,000 2,000
OABISH S X8 (et =03l) 22,000
COESESI| V(2 D) 575,042 683,910 £108,868
2 287,521
< 287,521
307 @I12+0| ™ 575,042 683,910 108,868
2 287,521
= 287,521
NEENEES 575,042 683,910 108,868
OxQESHSIY 2 575,042
2 287,521
= 287,521
ST =0 HBHE XA (2D) 168,126 0 168, 126
2 84,063
= 84,063
307 @I2+0| ™ 168,126 0 168, 126
2 84,063
< 84,063
EENEES 168,126 0 168, 126
OSUIsH-0 NBHE N (2D) 168,126
2 84,063
= 84,063
d2g 29 243 N 4,253,508 3,322,866 930,642
308 XHXI €A S 01 & 2,608,508 2,502,866 105,642
01 RXSHBLRRS 2,608,508 2,502,866 105,642
odzg 2 XA 2,457,868
OY2Y =3=T2IY AKX N 80,640
OYey D2IY 2YH X 70,000
403 XX SHH S XHE 0| & 1,645,000 820,000 825,000
01 IXI AN = = 1,645,000 820,000 825,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oOk=s 842 Z2Y JlsEd X& 1,645,000
LoolhEd ¥ 2235 FE 385,910 168,742 217,168
201 Let24d] 68,654 18,142 50,512
01 At 22l 60,654 10, 142 50,512
oL =RXJIz AAs 24 2,250
ORAYLBSA ¥ FAXNEZA HHS ¢ 4,500
OLe=EX REA EEE M 1,800
OLRelAr & J=LHASAY 29 2,104
O= 24 1F =22 50,000
03 A2 Z HI 8,000 8,000 0
OOl SEHEQ =& A 8,000
202 oddl 24,000 24,000 0
01 = LH o4 1l 24,000 24,000 0
OLQoloEd & S22 g FM 14,000
OLQ=XAE & HINQAAY =X 10,000
307 glz2tol & 4,000 4,000 0
10 AtSI =X 2 X 4,000 4,000 0
O&= LoXIASAL =M &It X 4,000
308 XtXIEHHSOIA 289,256 56,000 233,256
01 IXNHHBANEES 289,256 56,000 233,256
oLy Jlg & ZEAAHZ2 oY= 20,000
OQltisr 2 T2 dHl X 90,000
oadu=se XN 36,000
O s MHlA L SEEA 29 143,256
Lol 830 NE 268,800 312,000 A 43,200
308 XX EHH SOl A 268,800 312,000 A43,200
01 AXNSHHBLAEES 268,800 312,000 A 43,200
OZ< X 268,800
=Lgoza(=21) 248,686,881 152,566,666 96,120,215
= 237,008, 157
< 11,678,724
308 XXM SOIA 248,686,881 152,566,666 96,120,215
= 237,008,157
< 11,678,724
01 IXNHHBAMNEES 248,686,881 152,566,666 96,120,215
OJI=gd3 Xs 248,686,881
= 237,008,157
< 11,678,724
dzY Z2oAXdH N (=21) 281,250 281,000 250
= 140,625
< 140,625




2N
X ZH -
L= B

el

Z 0§l
25 CRME BXR(ASEXN/ - FHAE)
SHESHN AMIIETH =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 281,250 281,000 250
2 140,625
< 140,625
10 A3l =X 2 X 281,250 281,000 250
OZEY ZIXNAMH XNA(=12) 281,250
= 140,625
< 140,625
=MD - 2S)| BESMEINE X 25,350 4,800 20,550
308 XtXIEHH SOl A 25,350 4,800 20,550
01 X HHILEES 25,350 4,800 20,550
O=AMNIl - B8 Ssd8EINE X 25,350
LooE - SXNAE &5 30,542,863 33,618,357 A 3,075,494
= 8,427,528
J| 770,000
=2 18,284,830
< 3,060,505
COUSTAL SYXA(2) 20,316,478 20,872,722 556,244
=2 18,284,830
< 2,031,648
308 MXIEHSOIH 20,316,478 20,872,722 A556,244
=2 18,284,830
< 2,031,648
01 HXNHHNBHELS 20,316,478 20,872,722 A 556,244
OLQIMEAY 2EXA 20,316,478
& 18,284,830
< 2,031,648
CO=TAL JS22(2D) 1,159,918 4,853,354 13,693,436
2 966,598
< 193,320
403 XSS A0l & 1,159,918 4,853,354 A 3,693,436
= 966,598
< 193,320
01 XM A=2EE 1,159,918 4,853,354 A 3,693,436
OLQUEXANE JIsEL 1,159,918
= 966,598
< 193,320
LoSEE NHIA(2D) 8,106,467 7,784,281 322,186
= 7,460,930
< 645,537
308 XtXIEHH SOl A 8,106,467 7,784,281 322,186
= 7,460,930
< 645,537
01 AXHHILEES 8,106,467 7,784,281 322,186
Ok ==sAEA HE 8,106,467
= 7,460,930




SN AR
el

FM: ALst SME B (ASSEX/E0 - Fad)
el ooz - SXA4 &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 645,537
SAHL s=od S20 AFE(=21) 924,000 108,000 816,000
J| 770,000
< 154,000
308 XX EHHSOIA 666,600 0 666,600
J| 555,500
< 111,100
01 IXNHHBNEES 666,600 0 666,600
O=Nke SsSHd=20 2EXNH 666,600
J| 555,500
< 111,100
403 A X EHS =0l A 257,400 108,000 149,400
J| 214,500
< 42,900
01 X SHHX2E= 257,400 108,000 149,400
O=NLo SSed S2E0IAY AIAE 2= 257,400
J| 214,500
< 42,900
SHLO Ssetd S201 A Y 36,000 0 36,000
403 UHXHHSA=0l& 36,000 0 36,000
01 HXSHMA2LE X 36,000 0 36,000
OSSN SSAAESZE0l AIAE &X 36,000
LOEX & FAANE =S 1,101,000 3,827,542 AN2,726,542
= 983,500
< 117,500
ZAMAE EE(=1) 1,101,000 3,827,542 N2,726,542
= 983,500
= 117,500
403 UtXISHHS =0l & 1,101,000 3,827,542 N2,726,542
= 983,500
= 117,500
01 XM A=2EE 1,101,000 3,827,542 AN2,726,542
OFMALE &#&5(=21) 1,101,000
= 983,500
< 117,500
EXNAME 29 X& 1,462,121 1,351,168 110,953
M SXAE 293 1,458,476 1,351,168 107,308
307 glz2+ol & 186,020 157,120 28,900
10 A3l S X2 X 186,020 157,120 28,900
O Ma=SXAE SAL = 186,020
308 MXIEHMSOIH 1,272,456 1,194,048 78,408
01 HXNHHBHEELS 1,272,456 1,194,048 78,408
OAl - Z ASISXAE BAR =& 1,272,456
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2N
X ZH -
L= B

el

ZZZ 0§t
A=K AMBEE =
ZUHA=TAIE &5 2

=

o
[

(A3 =
g

X/FHAANEXH)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

< 30,000

308 XXM SO A 208,080 190,800 17,280

01 IXNHHBNEES 208,080 190,800 17,280
OAlZ ZOHRRIRASAtY 29 121,680
OZEHNHEIZERE 29 86,400

ZASTHELHZ S3IMEZZ0Y 29 N (=2) 124,000 124,000 0
J| 99,000
< 25,000

307 glz2tol & 124,000 124,000 0
J| 99,000
< 25,000

10 AtSI =X 2 X 124,000 124,000 0
OZJAETHEEH S2Hea=zz20y 2RI 124,000
J| 99,000
< 25,000

Zoiel MeEXMye 22 333,920 314,800 19,120
& 33,000
= 300,920

307 glz2+ol & 236,000 232,000 4,000
& 33,000
< 203,000

10 A3l S X2 = 236,000 232,000 4,000
OAZZHe THEXMEH 29 30,000
OXNEZEOL NEIHMEH 29 110,000
& 33,000
< 77,000
OHLZMHO HEXNAME 2¢ 37,000
OLA=+352352 2 59,000

308 XX EHH SOl 97,920 82,800 15,120

01 HIXNHHBNEES 97,920 82,800 15,120
OAZZEOHQ REXNAHEH 29 97,920

ZOoHe HEs =& 120,000 120,000 0
& 31,200
< 88,800

307 21201 A 120,000 120,000 0
& 31,200
< 88,800

10 A3l =S X2 = 120,000 120,000 0
ool 23 X& 16,000
OFMHEEZSRNAEEH 29 104,000
& 31,200
< 72,800

ZoHel MATHEANLE 2 272,850 272,850 0

AL

190,995




fN: ZZF04

HaM: HOHQUEX AlHE SH(AISIEX/FHLHSIH)
Sl HOHOZNAL HE U 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 81,855
307 QI2t01 & 272,850 272,850 0
= 190,995
& 81,855
10 Al S X EX 272,850 272,850 0
O=silleES&AdE 24 138,000
= 96,600
& 41,400
OSEtESAAME 2 134,850
= 94,395
& 40,455
O KIGAISITHEANE 2H 2,476,014 2,479,094 A 3,080
= 971,685
== 1,504,329
201 LBt Y| 2,183 2,183 0
01 AP 22| d| 2,183 2,183 0
OFOMASAIAE SAHA & FAERT 2,183
202 044l 10,000 10,000 0
01 2L Y| 10,000 10,000 0
OFOMOME L AIEE2Y N& =X 10,000
301 Bt A= 6,000 6,000 0
09 HAIAHI EAZ 6,000 6,000 0
OHMAUASAIAAE SAIA A&S A 24 6,000
307 QI2t0| & 2,216,271 2,216,271 0
=2 971,685
& 1,244,586
10 Al S X EX 2,216,271 2,216,271 0
OBXNEANZ 29 56,000
OHMQ MEEHNH &9 187,950
s 56,385
= 131,565
odtueglFz2HESs A 84 85,050
= 34,020
== 51,030
Ok £3slsSdMEH 24 165,300
=2 40,950
= 124,350
OLJdTEHMesE=N2 89 1,521,211
= 725,150
= 796,061
OHMAMIIEXNLEH 24 113,260
=2 79,280
& 33,980
OMZtMZ=2tES A 24 87,500
= 35,900




2N
DS ANEE

el

X ZH
S =

ZZZ 0§t

[}
= T

S(MESX/HAAHEX )
g

=
=3
ZA=EXAIE &E 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 51,600
308 XXM SO A 241,560 244,640 A 3,080
01 IXNHHBNEES 241,560 244,640 A 3,080
OZOHQ XIHEAtE MEANE 2SN 241,560
ZOHAANFAIE 2EXA 11,071,859 11,064,179 7,680
& 9,647,238
< 1,424,621
307 21201 A 210,900 210,900 0
& 84,360
< 126,540
10 AFRISXIEX 210,900 210,900 0
OHOe otLIEEIIEsA 29 110,250
2 44,100
< 66,150
OFe IsHEIF(stLieldy) 29 34,650
= 13,860
< 20,790
ORmOfOl BSMEIIH(013,014) 2 66,000
= 26,400
< 39,600
308 XX EHSOIA 10,860,959 10,853,279 7,680
=2 9,562,878
< 1,298,081
01 HIXNHHNBHNEES 10,860,959 10,853,279 7,680
OFMAHN=AIZ 22 dEgerdd X& 88,320
OFMANFAE 2 XA (AlT) 10,772,639
&2 9,562,878
< 1,209,761
ZOHANATHEAE JsEZAL(ZD) 272,196 535,327 A 263,131
2 194,305
< 77,891
402 RI2EX20| N 56,000 0 56,000
= 28,000
< 28,000
01 2I2tR2E X 56,000 0 56,000
OZOMAXMNATHEAL JISsE22ZAS 56,000
= 28,000
< 28,000
403 XIS E =01 & 216,196 535,327 A 319,131
= 166,305
< 49,891
01 XM A=2EE 216,196 535,327 A 319,131
OZOUMAXMIMEAE JIsEZ A 216,196
= 166,305
< 49,891




2N
X ZH -
L= B

el

ZZZ 0§t
A=K AMBEE =
ZUHA=TAIE &5 2

=

o
[

S(MESX/HAAHEX )
g

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZOHCIHZ=AIE JIsEZAL (=) 78,817 607,771 A 528,954
= 60,629
< 18,188
403 XSS A=0l& 78,817 607,771 A 528,954
= 60,629
< 18,188
01 XM AZ2E X 78,817 607,771 A 528,954
OZOMANFAIE JIsEZAY 78,817
= 60,629
< 18,188
SHEXOHQ == AIH (2 12) 209,950 209,950 0
= 161,500
< 48,450
403 XIS S X201 & 209,950 209,950 0
= 161,500
< 48,450
01 XXM 22 = 209,950 209,950 0
O=sHE Z0HQ =X 209,950
= 161,500
< 48,450
ESTQ TUSHMSBAIHASE(Z2) 234,000 234,000 0
= 180,000
< 54,000
308 A EHHSOIA 234,000 234,000 0
= 180,000
< 54,000
01 HXNHHNBHELS 234,000 234,000 0
O=ZZMe NgMeX A 234,000
= 180,000
< 54,000
ZOHQ A 25t 71,200 67,200 4,000
308 XXM SO0l A 71,200 67,200 4,000
01 IXNHHBNEES 71,200 67,200 4,000
oOFMe d2r=g XA 43,200
OZofel ot 249 28,000
FOH=SRNAIE 2 2 ML= 4,400 20,000 A 15,600
201 LB-2d| 2,000 0 2,000
03 A2 Z Hl 2,000 0 2,000
oXHeI=X2E E-SECE IMLR 2,000
301 L2 A S 2,400 0 2,400
09 HALAMHI B &S 2,400 0 2,400
oFMe=X2H E-x&Ecld I MUR 2,400
M SXAIE BIHEOMSX ) 5,000 0 5,000




2N
X ZH -
L= B

el

ZZZ 0§t
A=K AMBEE =
FHA=SXAE &5 2 2

S(MESX/HAAHEX )
g

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 5,000 0 5,000
01 At 22l 5,000 0 5,000

OAr3I SXIAIEEIH(EOH I =X =) 5,000
ZOHQIMEtotl o THEX A 49,623,901 41,001,442 8,622,459

= 44,025,956

& 16,000

< 5,581,945

ZOHQ J=MEEE XA 106,600 106,600 0
308 AXIEH S0l 106,600 106,600 0
01 IXNHHBANEES 106,600 106,600 0

OHMHMLE =4tdl XA 10,000
OFe H=W2AZH XA 20,000
oxle 224 X 52,800
OFHe A2HA XA 23,800
o0 At ES XNEME(=21) 12,652,914 10,368,571 2,284,343
= 11,654,000
< 998,914
308 XXM S0 A 12,652,914 10,368,571 2,284,343
= 11,654,000
= 998,914
01 AXNSHHBLAEES 12,652,914 10,368,571 2,284,343
OFMel Atslgs XNJFME 12,652,914
= 11,654,000
< 998,914

SSHMHL #s2x XA 107,568 107,568 0
308 XXM S0l A 107,568 107,568 0
01 IXNSHHBANEES 107,568 107,568 0

O=H SEZM gs2x X3 107,568
ool 2XLie XN (=1) 684,477 556,044 128,433
= 570,398
< 114,079
308 XtXIEHHSOIA 684,477 556,044 128,433
= 570,398
< 114,079
01 AXSHBLELS 684,477 556,044 128,433
OXoHel SXLRel XA 684,477
= 570,398
< 114,079
o HHE201(=12) 2,104,245 1,266,240 838,005
= 1,753,538
< 350,707
308 XXIEHH SO0 A 2,104,245 1,266,240 838,005
= 1,753,538




2N
CENYUSEX AEE SH(MESX/HLASIH)
=P\

el

X ZH
S =

ZZZ 0§t

oMy & WE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 350,707
01 IXNHHBANEES 2,104,245 1,266,240 838,005
OFe #FE0 XA 2,104,245
= 1,753,538
< 350,707
dZ2Y AZZOHQl oHOtAF A (=21 336,241 192,150 144,091
= 320,230
< 16,011
308 AAIEHHSOIA 336,241 192,150 144,091
= 320,230
< 16,011
01 HXNHHBHELS 336,241 192,150 144,091
O AI2HZHOH I OHOFAL TIHA 336,241
= 320,230
< 16,011
ZOHC MAZETIHAIE XA (=1) 148,125 144,250 3,875
= 59,250
< 88,875
307 glz2tol & 148,125 144,250 3,875
= 59,250
< 88,875
10 A3l =X 2 X 148,125 144,250 3,875
OFHIMASE EIHAIE 29 148,125
= 59,250
< 88,875
ZOHQ MAZEHIAIY 243 X 38,500 48,500 210,000
201 Let2d] 3,500 3,500 0
01 At 22l 3,500 3,500 0
O MAS BHIHEX B 3,500
307 gl2tol & 35,000 35,000 0
10 A2l =S X2 X 35,000 35,000 0
OXOHQIMALS EHOHAIA OFAHE QI XA 35,000
o3 (=2) 23,295,081 17,196,248 6,098,833
= 20,641,211
= 2,653,870
308 XXM SO0l A 23,295,081 17,196,248 6,098,833
= 20,641,211
= 2,653,870
01 IXNHHBNEES 23,295,081 17,196,248 6,098,833
oFMelHA=z XA 23,295,081
= 20,641,211
< 2,653,870
Ilzdaxg Xt =g X3(=2 3,076,486 6,243,483 A 3,166,997
= 2,726,000




2N
X ZH -
L= B

el

ZZZ 0§t

FUASX AEE SH(MESX/HSAHASIE)
=N

oMy & WE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 350,486

308 XtXIEHH SOl A 3,076,486 6,243,483 A 3,166,997
= 2,726,000
< 350,486

01 AXHHBLEES 3,076,486 6,243,483 A 3,166,997
OFM=+<2 XNS(JI=x) 3,076,486
= 2,726,000
< 350,486

oo o4 AN=(=22) 3,106,957 0 3,106,957
=2 2,753,000
< 353,957

308 MXIEHSOIH 3,106,957 0 3,106,957
= 2,753,000
< 353,957

01 HXNHHBHEELS 3,106,957 0 3,106,957
OZOH==Z (X&) 3,106,957
= 2,753,000
< 353,957

ZoHel elzd XNA(=1) 1,008,000 1,759,800 A751,800
= 960,000
< 48,000

308 XAHXIEH SOl A 1,008,000 1,759,800 A751,800
= 960,000
S 48,000

01 HIXNHHNBMNEES 1,008,000 1,759,800 A751,800
OFoel 2ozH XA 1,008,000
= 960,000
< 48,000

Zofel XrAstdl K& (=2212) 39,900 53,243 A 13,343
= 38,000
< 1,900

308 XXIEHH SOl A 39,900 53,243 A 13,343
= 38,000
= 1,900

01 AXNSHHEBANEES 39,900 53,243 A 13,343
OXO0H At4sHHl XI& 39,900
= 38,000
< 1,900

ool SEEEHI(=2) 45,084 28,248 17,736
= 38,320
< 7,664

308 A EHHSOIA 45,984 28,248 17,736
= 38,320
< 7,664

01 HXNHHNBHEELS 45,984 28,248 17,736




2N
X ZH -
L= B

el

A2 zoholn
ZOHOISK AT SH(ASISK/HLAHSXE)
DOHQIMEOIY o THEX

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

o S=EaHE XA 45,984
= 38,320
< 7,664

O MEEXRIF uRXE (1) 81,900 100,800 218,900
2 78,000
£ 3,900

308 XXM S0l ™ 81,900 100,800 218,900
2 78,000
£ 3,900

01 X EHHBLEES 81,900 100,800 218,900
OFMAEB XD+ K& 81,900
= 78,000
= 3,900

ZOHOts MEXSAIE (=21) 2,136,686 2,190,179 53,493
= 1,968,000
= 168,686

308 XXM SO0IH 2,136,686 2,190,179 253,493
= 1,968,000
< 168,686

01 XM BaE2ES 2,136,686 2,190,179 A 53,493
OZEMEAMHIA HBIRH A 2,136,686
= 1,968,000
£ 168,686

ANEAANZHAUREZ XE Adogg X (=1) 62,429 82,080 219,651
= 57,500
= 4,929

308 XXM SO0l ™ 62,429 82,080 A 19,651
= 57,500
= 4,929

01 UXESHHBAEXS 62,429 82,080 219,651
OANFEUZTHARE NH AdHELEE XA 62,429
= 57,500
S 4,929

ZOHOF IIELKRXA (2 1D) 501,800 338,598 163,202
= 367,549
S 134,251

307 212t0l & 428,110 279,500 148,610
= 299,677
S 128,433

10 Al S X2 X 428,110 279,500 148,610
OHOHOIIE L3 AL 428,110
= 299,677
& 128,433

308 XXl A S 0 73,690 59,098 14,592
= 67,872
= 5,818




SN ZRENAD
Ha: FHA=X AEE SH(MAZX/HAANSTR)
ol FONOIMEOIE O k!

MEOHE S W& (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 IXNHHBANEES 73,690 59,098 14,592
OLZTMAURR Melaed MEIAXA 73,690
= 67,872
< 5,818
A OlSHEXNZHH 29 7,000 7,000 0
308 MtXIEHMSOIH 7,000 7,000 0
01 AXHHILEES 7,000 7,000 0
OME2 OlsHEXZHH 29 7,000
HAZOHe! JIANE R0 K& A 40,000 40,000 0
&2 16,000
< 24,000
307 2Iztol ™ 40,000 40,000 0
=2 16,000
< 24,000
10 M2 S XRE X 40,000 40,000 0
OW&EEOMR JtAIE<R0l XI& 40,000
& 16,000
< 24,000
LM SESAH XAAS(F2) 43,008 21,840 21,168
= 40,960
< 2,048
308 XXM SO A 43,008 21,840 21,168
= 40,960
< 2,048
01 IXNSHHBANEES 43,008 21,840 21,168
OLE T dE=A HdEHEXHE N& 14,280
= 13,600
< 680
OLE e dE8=A HHA XA 28,728
= 27,360
< 1,368
ZOHQAIINA & ARSI & O 2HCH 345,350 352,690 AT,340
= 83,310
= 262,040
ZOHQl I SAFFE 33,800 35,600 A 1,800
307 glz2tol & 33,800 35,600 A 1,800
10 M3 2REX 33,800 35,600 21,800
OZJ&E =otel U3l 7,200
OZofel stots MAUE 9,000
OLAE =0te 21%=0| 4,000
OEXNZ0IS & JIEHA 6,400
OZ3& XNEZF =XCHa 7,200
ZOHQ 2= AY 10,000 17,000 AT7,000




S ZEEoHo

I FUAFIN ANEE F&

4

(AMEISX/HAAHNEXH)

0

Chelt RONQIAINA o AMEIE O 2O CEREY
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
308 AXISHMSOIHA 10,000 17,000 AT7,000
01 X HMBAEEXZ 10,000 17,000 A7,000
OFOMO SEHBAUS 10,000
ORI Al DA =& 85,500 36,500 49,000
201 LEt2 Y| 4,500 4,500 0
01 AFR2t2l bl 4,500 4,500 0
OZOI =S X THA& AlA 4,500
307 212t01 & 81,000 32,000 49,000
02 0I2tBAELZ 55,000 0 55,000
OFOMNOIXNEZSXNLAHNE (HMILNE) 25,000
OFMHIXNLESXNLAHA NS (HSIIUH) 30,000
10 M3ISXEX 26,000 32,000 A 6,000
OFORIe & JIg &l A 26,000
ZOHCI AMSIE O &0 =& 27,800 27,800 0
307 212t01 & 27,800 27,800 0
10 M3ISXEX 27,800 27,800 0
OXNXMEML 220U 29 8,000
O&OMe JIsdIta K& 15,000
Ox3tdHUs X 4,800
HAZOC AR SHUHXRAIE(21) 64,690 64,690 0
= 61,610
& 3,080
308 XHXI EHX SO & 64,690 64,690 0
= 61,610
& 3,080
01 AIXHMBAEEXZ 64,690 64,690 0
OO A EOfQl ASIZO By 64,690
= 61,610
T 3,080
A SAHlE XN (=21D) 23,560 39,520 A 15,960
= 21,700
& 1,860
308 XX S M SO0l & 23,560 39,520 A 15,960
= 21,700
= 1,860
01 AXHNBNMNEXZ 23,560 39,520 A 15,960
OWLg &M EaHE KA 23,560
= 21,700
& 1,860
K H MO A =X & 100,000 90,000 10,000
308 AXISHXMSO0IH 100,000 90,000 10,000




D HERIOHAD
DEOEX ABE SS(ASSX/HLHESTE)
DOBOHQIADNA 2 AbE!E OIS CH

SA - ZE-B(EA) - NRAY - B S il RS2

01 IXNHHBANEES 100,000 ,000 10,000
OXH Mo A& 3l K& 50,000
OXHHoHE S EH3 ALY 50,000

HY2AZHI (B2 FO0H D) (I1EH/DIEH) 35,200 ,000 4,200

=3l 35,200 ,000 4,200

EM2E Jl=Z 35,200 ,000 4,200

201 £B-2%| 22,500 ,500 0

01 At 224l 22,380 ,380 0
ORAM2Y AtR2ell 22,380

02 =224l 120 120 0
ORNE2Y 2224l 120

202 4l 8,500 ,500 0

01 = LH YI 8,500 ,500 0
ORME2E =U0H 8,500

203 R =&t 4,200 0 4,200

04 EAN2I LRI 4,200 0 4,200
©30Q! 0]t 350,000 128 4,200




